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FEEF P& P 54 B = 104 205 3049 6045 9045 1205 | 1504 | 180%
1/2 | = 06“528'8 84.7 63.0 52.1 36.8 29.7 254 22.5 20.3
t +2.16
B 698.3
1/3 | = —5&n 94.7 71.8 59.9 42.7 34.6 29.6 26.1 23.6
t +3.10
B 910.7
1/5  |rs =~ 105.4 81.5 68.6 49.4 40.1 34.3 30.3 274
t +4.18
B 1388.0
1/10  |rio = —5%r 116.8 93.2 79.5 58.1 472 405 35.7 32.2
t + 6.97
1/20 |r = 0_7321030‘4 127.6 104.3 90.1 66.6 544 465 410 36.9
t + 10.53
1/30 |rso = 0_7721755'9 132.8 110.6 96.3 71.9 58.7 50.2 44.1 39.6
t + 14.85
1/50 [0 =—pme=—o— 1307 1184 1040  784] a1l 547|481 430
t + 20.66
B 5510.8
1/80 |rso = —r 144.7 125.1 111.0 84.6 69.3 59.0 51.7 46.1
t +30.76
6564.4
1/100 = 147.2 128.2 114.3 87.6 71.8 61.1 534 47.6
/ 1o t " 1 3686
B 8811.8
1/150 |riso = —o7 151.8 134.0 1203 93.0 76.3 64.9 56.6 50.3
t +49.51
11452.4
1/200 |0 = L 154.5 137.8 124.6 97.0 79.7 67.7 58.9 52.2
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172 o = 0,671715‘0 83.9 63.3 52.5 36.8 294 24.9 219 19.6
t +3.83
_ 723.8
173 | = 94.9 715 59.3 419 33.7 28.7 25.3 22.7
t +3.20
3 645.6
1/5  |rs = —55% 108.3 80.6 66.8 474 384 330 29.2 26.4
t +1.99
3 583.2
1/10  |rio BRI 124.2 91.8 76.2 54.6 44.6 386 344 31.3
_ 530.2
1/20 | = —55% 138.9 102.3 85.0 61.5 50.6 441 39.6 36.2
t +0.59
3 489.5
1/30  |rso =i 147.7 108.4 90.1 65.5 54.2 474 42.7 39.2
t +0.28
3 445.6
1/50 |rso = =57 158.9 116.0 96.5 70.5 58.7 51.6 46.6 42.9
t +-0.02
3 378.8
1/80 |rso =T, 03 169.7 122.8 102.1 75.0 62.8 55.4 50.3 46.5
_ 384.0
1/100 |rie = LI 173.9 126.1 105.0 71.3 64.9 57.3 52.1 48.2
=U.5
3 347.1
1/150 [riso = —35% 181.7 1315 109.6 81.1 68.3 60.6 55.3 51.3
t +-0.50
3 338.3
1/200 |rae0 = L 188.0 135.9 1135 84.2 71.1 63.1 57.7 53.6
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FEEF P& P 54 B = 104 205 3049 6045 9045 1205 | 1504 | 180%
1/2 | 2# 91.2 72.6 61.3 433 34.2 286 24.8 21.9
t + 11.96
1/3 | 0_7711669'4 102.0 81.3 68.9 49.2 39.2 330 28.7 25.6
t +10.47
_ 1610.1
1/5 |rs =7 113.0 90.5 77.1 55.9 451 384 33.7 30.2
t + 8.86
1/10  |rio = 0,6415250'8 127.6 101.7 87.1 64.4 53.0 458 40.7 36.9
t + 5.39
_ 839.8
1/20 |2 = —70 142.1 112.3 96.5 72.8 61.0 53.7 484 445
t +2.45
_ 631.2
1/30 |rs0 ST 105 150.0 118.0 101.6 71.7 65.9 585 53.3 493
_ 443.9
1/50 |rso = —5o1 159.7 125.2 108.3 84.1 72.4 65.1 59.9 55.9
t +0.32
B 265.2
1/80 |rso =TT, o0 169.2 1315 114.0 89.9 78.5 71.4 66.4 62.5
204.8
1/100 |rie = T L oo 1735 1344 116.7 92.8 815 745 69.6 65.8
_ 118.0
1/150 |niso = P 182.6 140.6 1225 98.6 875 80.7 76.0 72.3
_ 63.6
1/200 |20 = —7 186.4 143.1 125.0 101.7 91.1 84.6 80.1 76.7
t +-0.95
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FEEF P& P 54 B = 104 205 3049 6045 9045 1205 | 1504 | 180%
1/2 | :# 86.6 71.0 61.1 445 35.7 30.2 26.3 234
t + 15.05
1/3 | 0_3327636'6 95.7 80.0 69.6 51.2 413 348 30.3 26.9
t + 20.67
1/5 |rs = 0_831014'2 106.3 89.6 78.4 58.4 474 40.2 35.1 31.3
t +21.58
1/10  |rio = 0,7921956'5 119.0 100.7 885 67.0 55.0 471 415 37.2
t + 18.66
1/20 |0 = 0_7121284‘6 131.1 1103 97.2 745 62.1 53.9 48.1 436
t +12.29
1/30 |rs0 = 0_5419784'0 138.2 115.6 101.7 78.6 66.1 57.9 52.0 475
t + 845
_ 1149.4
1/50 |rso = —5% 147.1 1214 106.7 83.3 71.0 63.0 57.3 52.9
t + 4.26
_ 670.3
1/80 |rso =TT 3 155.4 126.2 110.8 87.4 75.5 67.9 62.4 58.2
B 507.6
1/100 |rie = —f5or1 158.6 128.0 112.3 89.1 715 70.1 64.8 60.7
t +0.74
_ 242.1
1/150 |riso = PR 166.2 1314 115.1 92.3 81.4 745 69.6 65.9
1/200 |0 = . n_mlli"o = 170.6 132.6 116.1 94.0 83.8 77.4 73.0 69.6
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(mm/hr)
HEEE PR E 1650 2 B Rl 3 B R 6 B R 12650 | 248
66.0
1/2 = 33.0 245 200 135 8.7 5.4
/ v} : 0760 100
1/3  |r = 5.4 38.3 284 23.2 15.7 10.1 6.4
3 - . R . . . .
t “' 4+ 0.97
1/5 |r = 8.9 443 329 26.8 18.2 11.8 74
5 - . . . . . .
t *7 1 0.94
1/10 |r = 28.2 52.2 386 315 213 13.8 8.8
10 - . . . . . .
t 0.735 + 088
113.6
1/20 |t = — 59.8 442 36.1 24.4 15.9 10.0
I +0.90
1/30 |30 = 0,739122'3 64.0 474 38.7 26.2 17.0 10.7
I +0.91
134.5
1/50  |rso =T, 008 69.3 515 420 285 18.5 11.7
146.0
1/80 |rzo =T, 000 74.1 55.1 450 305 19.8 12.5
1/100 |ri0 = 0,74715 06 76.8 57.1 46.6 316 205 12.9
I +0.96
161.1
1/150 |riso = —g=s 81.0 60.3 492 33.4 216 13.6
I +0.99
167.0
1/200 |00 = —gs 83.9 62.5 51.0 34.6 224 14.1
I +0.99
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(mm/hr)
RE gL e 9 5 BE =X 1 B i 255 3 BF OFFRT | 12B5R | 2485
58.0
1/2 T = 33.1 243 19.8 13.5 8.8 5.6
2 ¢ 0.709 +0.75
69.4
1/3 T = 37.9 28.0 22.8 15.5 101 6.4
/ 3 { 0.724 +0.83
1/5 T = 84.4 435 32.3 26.3 17.8 11.6 7.3
5 ¢ 0.744 i 094 . . . . . .
1/10  |rio = 0'771106'2 50.1 37.6 30.8 20.8 134 84
t +1.12
1/20 |r = 0'791127'6 56.7 42.8 35.1 23.7 15.2 94
t +1.25
1/30 |r = 141.7 60.6 459 37.7 255 16.3 10.0
30 ¢ 0.804 + 134 . . . . . .
1/50 |rs0 = 0'816158'4 65.5 498 40.9 27.6 17.6 10.7
t +1.42
177.1
1/80 |80 = — %50 69.5 53.2 43.8 29.6 18.8 114
t + 1.55
184.5
1/100 |ri00 = =535 71.8 55.0 453 30.6 194 11.7
t + 1.57
1/150 |ris0 = 0'851204'4 75.1 58.0 479 324 204 12.3
t +1.72
1/200 ([r200 = 0'853212'6 78.2 60.3 49.8 33.6 21.2 12.7
t +1.72
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(mm/hr)
HEEF fk 79 9 BE =X 1 B PXiciii| 3 ¥ 6 B i 12650 | 245/
53.6
1/2 T = 38.6 27.2 218 14.7 9.7 6.3
/ 2 ¢ 0.660 +0.39
66.4
1/3 = 43.7 314 254 17.3 114 74
/ 3 : 0.671 0.5
_ 83.7
1/5 Is = —5oT 49.8 36.5 29.7 20.3 134 8.7
t + 0.68
1/10  |rio = 0'751122'5 57.0 43.2 35.7 245 16.1 10.2
t + 1.15
1/20 |r = 0'811172'8 64.5 50.3 420 29.0 18.8 11.6
t +1.68
1/30 |r30 = 0'848210'2 68.7 545 457 31.7 204 12.5
t + 2.06
1/50 |rs0 = 0'891263'4 744 59.9 50.6 35.2 22.5 13.5
t +2.54
1/80 |rso = 0'931322'0 79.7 65.1 553 38.6 245 144
t + 3.04
1/100 |ri00 = 0'952356'0 82.2 67.6 57.6 40.3 255 149
t +3.33
1/150 |ris0 = 0'991427'2 86.5 721 61.8 434 27.3 15.7
t +3.94
479.1
1/200 |r200 =~ 89.9 754 64.9 457 28.5 16.2
t +4.33
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ERHBRERBEEXA RN AE - B X (REIJAvY)

(mm/hr)
R ek i 9 E =X 1B5 2858 3EFME 6 B i 125 | 24K
1/2 2 = —5301 81.9 36.7 276 22.5 15.1 9.6 59
t +1.23
} 88.1
1/3 I3 = =579 432 320 26.0 17.3 111 6.8
t +1.04
} 99.1
1/5 I's = =577 50.3 37.0 30.0 20.0 12.8 79
t +0.97
} 116.2
1/10  |rio = =77 59.3 43.6 35.3 23.5 150 9.3
t + 0.96
139.1
1/20 |ro = —7% 67.5 50.0 40.6 271 17.2 10.6
t + 1.06
1/30 |30 = 0'791152.8 72.8 54.0 43.9 29.2 18.5 114
t +1.10
1/50 |rs0 = 0'802172.3 78.7 58.7 478 31.9 20.2 12.3
t +1.19
1/80 |rso = 0'311190'7 84.8 63.5 51.7 34.5 21.8 13.2
t +1.25
1/100 |ri00 = 0'320203'0 871 65.6 53.5 35.8 225 13.6
t +1.33
1/150 |ris0 = 0'831222.8 921 69.6 57.0 38.1 239 144
t + 1.42
241.7
1/200 |r200 = —%3 95.2 72.5 594 39.8 250 15.0
t +1.54
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